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2. Usefulness  Not much useful as
: : E depends on x which
itself is subject to

uncertainty. 3
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, The consequence of equation are shown in figure in which the

relative error due to buoyancy is plotted against the density of object weighteq

in air against stainless steel masses. Note that this error is less than 0.1% for ,‘

objects that have a density of 2g/cm’.

The densuy of masses used in single plan balance ranges from 7.8

to 8.4g fem’ depending on the manufacture: Use 8 g/cm’is adequate for most

purpose is greater accuracy 18 requlred the specifications for the balance to

be used should be consulted for the necessary dens1ty data.

Temperature effects -

Absolute error

Time aﬂer removal from
over min

Affects to weight an object whose temperature is difference from
Errors due to a

that of its surroundings will result in a significant errors.
difference in temperature have two sources. First convection currency within
the balance case exert a buoyant effect on the pan and object. Second warm
air trapped in a closed container weights less than the same volume at low
| bemperaiure both effects cause the apparent mass of the object o be low.

The error can amount to as much of 10 (or) 15 mg for typical porcelain

filtering crucibles (or) weighting bottle.




